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UNIVERSITY OF NORTH BENGAL

B.Com. Minor 1st Semester Examination, 2023

UACFMIN11001/UMNGMIN11001-COMMERCE

BUSINESS MATHEMATICS-I
Time Allotted: 2 Hours 30 Minutes Full Marks: 60

The figures in the margin indicate full marks.

GROUP-A / Tein-5 / @ve-&

1. Answer any four questions: 3x4=12
Q- BAG 2A0R Ted mies

P FIRICT THDT IR o1 :

(a) IfyocL2 and y =9 when x = 2, find the value of y when x = 3. 3
X
I yoci2 R =9 T(E x =2 T, O@ T x = 3 O 43 W« 77 37
X

?Jw%*yoci2 Ry=994 x=2, y & Ied WoeRL o x=3 |
X

(b) The third term and six term of a series in G.P. are 3 and 81 respectively; find the 3
first term and common ratio.

(I TS @A PORI 57 ¢ T 2 2&1 3 6 §1 IS, 2T 7 € FKF TS

a1
G.P .57 4TI TRAT R BTl 3ihes 3 ¥ 81 &, Ufeall Ue X A Me=aT T a i |
(©) 1f " B, =336, find the value of . 3

T " P, =336 2, O@ n-a3 W 71 79
S " P, =336, n B 4ed TIeEr |

(d) If x* + y* = 6xy, show that, 2log(x + y) = logx + log y + 3log2 . 3
M x? + y? = 6xy W, OIRCE A€ @ 2log(x + y) = logx +log y + 3log2 |
e x? + y? = 6xy, é@ﬂ%‘t@?{ﬁﬁ 2log(x+ y)=logx+logy+3log?2 |

(e) Solve: 2% +2" =320 3
T 27 425 =320
272 2% =320 8T T |
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(2)

(b)

(c)

(d)

(e)

If (a+b):(a—b)=5:2, find the value of b:a.
TR (a+b):(a—b)=5:2 T, R b:q-a3 T {7 41
AR (a+b):(a—b)=5:2, b:a BT TIEH |

GROUP-B / Teie-4 / @ve-g

Answer any four questions:
Q- 5AG 2A0iR Ted mies
P FIRGCT THDT IIR 1 :

In how many ways can a committee of 3 ladies and 4 gentlemen be appointed
from a meeting consisting of 8 ladies and 7 gentlemen? What will be the number
of ways if Mrs. A refuses to serve in a committee of Mr. B is a member?

8 ST AfSAT X 7 ST Joues AFHfeTd JbaIe 3 ST AfgelT X 4 ST v Af
Bic fbRFeeT IS Aib-s 2 Il #f|fT A 4| B wuedT AfFfcraT dar T srRedipR
TRHT e TRBIE® §B ?

Find the value of : log~/27 + log8 + log /1000
log120
e el 4 log+/27 + log8 + 1og /1000
log120
logx/ﬁ+;ogl82+010g 1000 ey e i
0og

In what time will a sum of money double itself at 5% p.a. compound Interest?
(Given: log2=10.3010, logl05=2.0212)

AR 5% vafan W R, F© AN (e Jorw JW-30eT faeed 231
(Crel ©ICR, log 2 =0.3010, log105 =2.0212)

BT FHIHT 11 Iehgfeg AT 5% HT U7 QleaR g0 2

[log 2 =0.3010, logl05 =2.0212]

Find the equation of the straight line passing through the point (2, 6) and
perpendicular to 3x—-5y+7=0.

(2, 6) RN € 3x -5y +7 =0 AR T 717 FREAEIF AN fefy 741
g (2, 6)Y 3x =5y +7 =0 S oTraed UR T e T FHIBRUT Uil RTSTEI |

The sum of the roots of the quadratic equation is 2 and sum of the cubes is 27.
Find the equation.

@3 faare TR Aoare TWE 2 @R oRmd G9iced TR 27, FNw e
4|

e GHiepRUThT SRIPT ANTheT 2 81 ¥ Fgaevd! ANThl 27 & | I FHIDR0r o<l
IR
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(f) Sum of three consecutive terms of an A.P. is 42 and the product of first and last 6
terms is 180. Find the numbers.

TS @AY 2171 217 Foxb TG Y @ 42 @R 2 € (*F FRYF e
1801 AN 5 & ¢
A.P. @I TR T GEATERDI ARHA 42 8 I Ufeal I AfTH yesnd! TuHHe

180 & | GATE™ U<l RST8] |

GROUP-C / fqetol-o / @usT

Answer any ftwo questions 12x2 =24
- }ﬂ% oTd Ted mis
Pl GFICT THBT IR A
3. (a) Two samples of tea contain Darjeeling and Assam tea in the proportion of 2 : 3 6+6

and 5 : 3 by weight. They are mixed together in proportion of 3 : 4 by weight.
Find the proportion of Darjeeling and Assam tea in the final mixture.

fRRITepT g8 FATERRHT STNifers X 3 RRIT2 : 3 X5 : 3 dicted! U © | fomes
IO GRT 3 1 4 T ST Uebaref 3T & | ffea fosiomT aTivifers I 3/ forment
SIgYId Chsll C’I‘Ild'jDSN-I\I

(b) The expenses of a hotel are partly fixed and rest vary as the number of boarders.
When the number of boarders are 450, the expenses is ¥1,800, when the number
of boarders is 920, the expenses is ¥3,120. Find the expenses per head when there
are 1000 boarders.

GF RIGER AAOA GI0 SR PP GR I G SR WP IR SGACS
-3 27| SRR TR 450 205 Mg 476 2108 1,800 B, 920 2051 Meif?rg
5 2 3,120 Bl | SRR AT 1000 2 Mg F© 476 208 ©f f97 741

BICaTd! Y AMRID HUAT (AT © R Fidhl 8T Tl TET AR A &6 | a7
AT ST 450 gaT W9 31,800 &6 S WA 920 &8 &9 33,120 9 | 1000
T HIIRIERHD] AT HY U STeh! e Dicl 70 ?

4. (a) Solve: 10g2x+10g4x+10g16x:% 6+6

AT 98 log, x + log, x + log, x = %

10g2x+10g4x+10g16x=% Pl & 1 ﬂﬁf q 1

(b) If one root of the equation x*+ px+¢=0 be thrice the other, show that

3p? =16q.

IM x4 px+g=0, ANFAER @O & qoEGI foqed 7, @ @AS @
3p? =16g |

i FHBT X% + px+¢g =0 aﬁwa\waﬁwaﬁqﬁwﬁ, 3p? =16q Eﬁﬂ\?&
TSR |
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5. (a) The difference between simple and compound interest on a sum put out 5 years at 6+6
3% was 346.80. Find the sum.

AR 3% 2T AW (@I PR 5 IREE I 8 5FfE 0 SIS 46.80 B T,
SITCER SAfsel fefy 31

3% SIS Uig ¥ F= IRIYeDT IHHAT ATERYT I Fehdfg TSl e =TT 346.80
B I AP Ui THe |

(b) 1f "P. =504, "C, = 84, then find the value of 7 and r.
T TP =504, "C. =84 T, O@ n 8 r-&3 N« 7 77
Al "P.=504, "C, =84, n3 r P eI WIS |

6. (a) If a* =b” =¢* and b2=ac,showthatl+1:3. 6+6
X z Yy
W a* =b" =¢* ‘ﬂa‘ibzzac@,\‘blimmin@@,l+l:£|
X z Yy

IR g =" =c" T b’ =ac, l+l:£

0 ? SHSIEN |
X z y

(b) Find the term independent of x in the expansion of (9x* —1/ 3x)'?. What is the
simplified value of the term?

(9x> —1/3x)"? DY IRARAT x FTC T 37 WISTRINT 3T THDT e & & 2
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